1. You ride your bike towards the north, starting from rest and constantly

increasing your velocity to 6 m/sin 5 seconds.
a. Sketch a guantitative v-t graph of your motion
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c. Write the linear equation for this graph
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d. Calculate what your final velocity would be if you continued this
motion for a total time of 8 seconds.
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e. Use the equation d, = > at® + vyt + d, to calculate your displacement

after 8 seconds, assuming you started at the flagpole {origin).




2. You ride your bike to the north, increasing your velocity from 1m/s to 8™/
in 3.5 seconds:

a. Sketch a quantitative v-t graph of your motion
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b. Calculate the slope of this graph
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c. Write the linear equaﬁon for this graph
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d. Calculate what your final velocity would be if you continued this
motion for a total time of 6 seconds.
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after 9 seconds, assuming you started 5m south of the flagpole (Hint:
d; = -5m). Where are you standing in relation to the flagpole?




3. You ride your bike to the south with and initial velocity of 10 ™/s and
decrease your speed constantly until you come to a stop after 15 seconds:
a. Sketch a quantitative v-t graph of your motion
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b. Calculate the slope of this graph
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c. Use the equation given in #1le to calculate your final displacement
once you've come to a stop, assuming you started 50m north of the
flagpole. Where are you standing in relation to the flagpole?

5
ok i
Tk, .
1 5
god
o i
i P
Vo
§
o s Sy
. s b
. H
LA LS i




